Warm Up November 30, 2018
Solve the system of equation using graphing (on the calculator),
substitution, and elimination.
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SYSTEMS OF EQUATIONS (oolications

Many real world problems can be modeled and solved using a
system of equations. Use the process below to solve these problems.
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5. The sum of two numbers is 20. The difference
between three times the first number and
twice the second is 40. Find the two
numbers.

nderline the question
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liminate extra info

how your work to
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4, The sum of two numbers is 36. Twice the first
number minus the second is 6. Find the
numbers.
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Systems Word Problems Cheat Sheet
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(Answers to #1- 20)



X="Fountain dainks (§)

__::B' Ld" bag of popcoA ($)

&)

8>(+Ln =45
[5Xtby="T1.95

><+8 = 34. 50
x+a\a-aea 15)

X = hgs. at donut shop

1&= hRS. o+ booKS+oRrw

JD-QSK‘(“@.TI‘S%:JQ@

i X+%=60

:: %L -c*i@lo
’rhebod«s’ror‘eﬁk&
®x+% 30 @IOQLp\an)Jr%’TS =10
1045y

aDﬁrw

AR L ‘SD\&'r&DS‘IqLo
05 ~40§
= 50y=—-9—
=150 =1.50
LS 0% ‘ru
i-;"’n.'f = X="Tnm. on pllipticed
e = | Y="T0IM. ONtRwad™mill
o0 R
Sx= | Idxt10u=110
10 (X+y="00
Liaxtoy=uT © CHOO
AX=T
d Q



